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Which of these plots is NOT a line of best fit for the scatter plot shown below ?

(8)

L & jasll

1- FROM YOUR STUDY what is the type of lever of human forearm ?

3" class
2- if the mass of the arm is 6kg what is the tension force of the arm (T)?

T=§ R iy =S i B = LATN

A 0.045

e B 4y a1l
1- WHAT ARE FORCES ACTING on an object at terminal velocity in fluid

1- float force 2- flog force © 3-weight force . ) \

-

2- a small metal sphere of radius 0.5 mm has mass 1g is dropped into oil of viscosity 3.6 poise what is the (ermiﬁal
velocity during falling ?

2 2
Vs (ps —p)g r? ==5m5¢ (7.89 = 1.26) X980 % (0.05)% =1 cm /s

daal 1 & a3l
1- surface tension
a- does not occur in water

b- is caused by unbalanced attractions between molecules under the surface of water

F- causes a thin film to form on the surface of water ]

d-is strong enough to support relatively large objects

2- if the surface tension of water is 0.0728 N/m calculate the water rise in a capillary glass tube with 1mm radius
immersed in this water

a- 1lmm b- 1.5mm c- 10mm
Laalal &yl

1- from the above experiment , how could you measure the value of unknown resistor ?

R=

~I<




3

3 6 R
2- Given values of V and | what is the resistance R? R =5=9 Q 36V I
- il
L , °
Ll 4 a3l &% 12

1- ASQ RESISTOR AND 12Q) are connected in series é . “? S
.draw the circuit s

2- what is the equivalent resistance of 12 and S when connected in parallel?

12 x§
12+S

R=

=35Q

Al 4 a1

Write the name of this wave-

Resdt e WL
i

square wave

N
TR

Sinusoidal wave tria;'lgular wave

1- what is the physical meaning of the Root-mean square ( RMS ) VALUE OF an ACssignal ? -

nagnitude of AC signal and equal to \lli of maximum
peak . )

Student used a tuning fork of frequency 512 HZ to produce a standi
room temperature e, COMMent

No resonance will produce

A convex lens has a focal length of 20cm . an object 8cm high is placed 30 cm in front of the lens.

a- calculate the position and the nature of the image ?

1 1 / ~
=-—c-= —__ =0.60 real image
020 030 3. b €

L

Q-
~im

b- calculate the power of the lens

O B S diopter

= 0.20

™
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